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(1) [OO0O]

1) J(f+g;la,b]) =J(f; [a,b]) + J(g; [a,b])
2) J(af; fa,b]) = aJ(f; [a,b])

(2) [D aooo D]
‘](fv [aab]) - J(fv [a,C])+J(f; [C7b])

3) [000] 000 z€(e,b] 000 f(z)<g(x) 00000
J(f; la,b]) £ J(gs [a,0])
(4) [0000]00 10000000 7000
J(r;[a,b]) =b—a

000000000 A= {xz,...,z,} 000 s(A) = ZmiAa:iDS(A) = ZMiAxiEIE(A, {&)) =

i=1 i=1

> f(&)Az; 0 |Al—-000000000000000000
i=1
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(1) [0o0]

1) J(f+g;D)=J(f; D)+ J(g; D)
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2) J(af; D) =alJ(f; D)

(2) [00D000]00 Dy, D, 000 m(DyND,)=0000000 CyUD, 0 Dy +D, 00
00000 m(X)0OO0O X0000000

J(fs D1+ D2) = J(f; D1) +J(f; D)
(3) [000]000 (z,y) eDODD0 f(z,y) < g(z,y) 00D0OD
J(f; D)< J(g; D)
(4) [0000]0D0 10000000 7000
J(t; D) =m(D)
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00 5.1 [000000000000]: R={(z,y) €eR*| a<z<bc<y<d}0000R
000020000 f(r,y) OO0DOODROOO A={x0,21,..,%n; Y0, Y1 ---,Ym} 00O

a=x90<x1<--<xp=>0, c=y<y<- -<yn=d

0000000004 (i=1,...,n,j=1,...,m) 000000000 A;; O
Aij={(z,y) e R*| vi1<v<a,y;1<y<y;}
000000A,;,0000000000000O0 M,;,m;; 0000000

Mij:Sup{f(x7y)‘ (xvy)eAij} mij:inf{f(x7y)‘ ('rvy)eAij}
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00000000000000000z= f(z,y)=ay000D={(z,y) €R*| 0<2<1,0<y<1}

goooo
/ /D f (. y)dudy

00 Ap = {20, 21, -, T} Yos Y1y} 0000000 @ = —,y; = 2(i,j =0,1...,n) O
n n

goooon

1

0000000 |A,l==00000000000 Ajj={(z,y) e R?*| vi1 <z <,y 1<y<vy;}
n

000000 f(zi—1,y;-)B00000 f(z,y;) 0000m;; = inf{f(z,y)| (z,y) € Ay} =

1—1 7—1 1
f(wio1,y5-1) J O M;; = sup{ f(z,y)| (z,y) € Ay} = f(zi,y;) = ~ 2 nono
n n nn
ooo
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n n nn
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godod 5.1 0OD0000OO0O0OO0DbObObOOO0OOO0oOoOon
(1)// xydedy (OO0 D:{(m,y)eRﬂ 0<2<20<y<2})
D
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1) //D {f(x,y)+g(w,y)}dwdy=//D f(w,y)dxder//Dg(w,y)dxdy

2) //D af(x,y)dxdy:a//D f(z,y)dxdy

(2) [DoO00O]

//Dlwz f(o:,y)dxdyz/ . f(x,y)da:dy—i—/ . f(x,y)dzdy—//Dsz f(z,y)dady

(3) [DC00]000 (x,y) eDOOO f(x,y) £ g(z,y) DOOODO

//D f(x,y)dxdyé//D 9(z,y)dzdy

(4 [0000]00 10000000 7000000 D={(z,y)eR?| a<az<bc<y<d}
ooog

//D 7(z,y)daxdy = (b —a)(d — ¢)
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00 5.4 [J000000000)DOUOOUOOUOODO0ODOO DOOOOO 200 DOOOOO
000000000 f0 DOOOUOODOOOOOO DOOOOO P=(x0,y0) 00000

//D f(z,y)dzdy = f(x0,y0)m(D)
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00 DODO0ODD0000000 MOOOOO (21,41) 00000 mO0000 (22,92) OO
00ooooo0 po0000 (v,y) 000 f(r,y2) = f(z,y) = f(21,41) OO m < f(z,y) <

MOOOOOOOOO0OO 53@3)0000oo //mdxdyg//f(x,y)dxdyg//dedy
D D D

O0o0ooooo 53 @)00O //mdxdy:mm(D),//dedy:Mm(D)DDD[ID[Iu:
D D

/ / f(@,y)dedy
D D) D0000m<pu<MOOOO(z1,4) 0 (22,9) 000000 COO00DO
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00000000 f(zo,y) =, 000 CO00 Plxe,y) 000000
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